I 1 8. snusEkeEs (O—-Uv9912M)

[

]
m]

U=

5

|
g

5
g
#

BVSR-SD S=F17BRUBEERHE  wo. o
-.
S0.5X0.125 0.410 0.500 0.480
S0.6X0.15 R2 0.495 0.600 0.575
S0.7X0.175 R3 0.570 0.700 0.675
S0.8X0.2 R3 0.655 0.800 0.770
S0.9X0.225 R3 0.740 0.900 0.870

HRUAREF JIS B 0201 ORZEEY 55X 5h3

B RS-D X—RNULB1aU ARERME

BRUHE

BT - mm

BRUHE
HERMER —

R2 | 0.815 | 0.815 R2 | 2.01 | 2.01
M1X0.25 | R3 | 0.800 | 0.800 | 1.000 | 0.933 | 0.985 | 0.940 * M2.3X0.4 | R3 | 2.00 | 2.00 | 2.281 | 2.186 | 2.280 | 2.190
R4 | 0.780 | 0.780 R4 | 1.98 | 1.98
R1 | 0.930 | 0.930 R2 | 211 | 211
M1.1X0.25 | R2 | 0.915 | 0.915 | 1.100 | 1.033 | 1.100 | 1.033 * M2.3X0.25 | R3 | 2.09 | 2.09 | 2.282 | 2.215 | 2.280 | 2.230
R3 | 0.900 | 0.900 R4 | 2.07 | 2.07
R2 | 1.015 | 1.015 R2 | 218 | 218
M1.2X0.25 | R3 | 0.995 | 0.995 | 1.200 | 1.133 | 1.185 | 1.140 M2.5X0.45 | R4 | 215 | 215 | 2.480 | 2.380 | 2.480 | 2.380
R4 | 0.980 | 0.980 R5 | 213 | 213
R2 | 1.180 | 1.180 R2 | 224 | 2.24
M1.4X0.3 | R3 | 1.165 | 1.165 | 1.400 | 1.325 | 1.380 | 1.320 M2.5X0.35 | R3 | 2.23 | 2.23 | 2.481 | 2.396 | 2.481 | 2.396
R4 | 1150 | 1.145 R4 | 2.21 | 2.21
R2 | 1.345 | 1.345 R2 | 2.28 | 2.28
M1.6X0.35 | R3 | 1.330 | 1.330 | 1.581 | 1.496 | 1.581 | 1.496 * M2.6X0.45 | R4 | 2.25 | 2.25 | 2,580 | 2.480 | 2.580 | 2.480
R4 | 1.315 | 1.315 R5 | 2.23 | 2.23
R2 | 1.445 | 1.450 R2 | 2.34 | 2.34
* M1.7X0.35 | R3 | 1.430 | 1.430 | 1.681 | 1.596 | 1.680 | 1.610 * M2.6X0.35 | R4 | 2.31 | 231 | 2,581 | 2.496 | 2.580 | 2.480
R4 | 1.415 | 1.415 R5 | 2.29 | 2.29
R2 | 1.545 | 1.545 R2 | 2.65 | 2.65
M1.8X0.35 | R3 | 1.530 | 1.530 | 1.781 | 1.696 | 1.781 | 1.696 M3X0.5 R4 | 2.62 | 2.62 | 2.980 | 2.874 | 2.980 | 2.874
R4 | 1515 | 1.515 R5 | 2.60 | 2.60
R2 | 1715 | 1.715 R2 | 274 | 274
M2X0.4 R3 | 1.700 | 1.700 | 1.981 | 1.886 | 1.980 | 1.890 M3X0.35 | R4 | 2.71 | 271 | 2.981 | 2.896 | 2.980 | 2.880
R4 | 1.680 | 1.680 R5 | 2.69 | 2.69
R2 | 1.810 | 1.810 R2 | 324 | 3.4
M2X0.25 | R3 | 1.790 | 1.795 | 1.982 | 1.915 | 1.980 | 1.930 M3.5X0.35 | R4 | 3.21 | 3.21 | 3.481 | 3.396 | 3.480 | 3.380
R4 | 1.775 | 1.775 R5 | 3.19 | 3.19
R2 | 1.88 | 1.88 R3 | 3.63 | 3.63
M2.2X0.45 | R3 | 1.87 | 1.87 | 2.180 | 2.080 | 2.180 | 2.080 M4X0.5 R5 | 3.60 | 3.59 | 3.980 | 3.874 | 3.970 | 3.860
R4 | 1.85 | 1.85 R6 | 3.58 | 3.58
R3 | 4.63 | 4.63
B N-RSD X— NSl BAfEHRMR g M5X0.5 R4 | 401 | 461 4.980 | 4.874 | 4.970 | 4.860
" Az : mm R5 | 4.59 | 4.59
BRUNE R6 | 4.58 | 4.58

RRME

| |

M3X0.5 2.62 2.62 | 2.980 | 2.874 | 2.980 | 2.874
M4X0.7 R4 | 3.49 3.49 | 3.978 | 3.838 | 3.978 | 3.838
M5X0.8 R5 | 4.41 4.41 4,976 | 4.826 | 4.976 | 4.826
M6X1 R5 | 5.28 5.28 | 5.974 | 5.794 | 5970 | 5.820
M8X1.25 R6 710 71 7.972 | 7.760 | 7.960 | 7.790
T JIS: REH IS B

|HJIS:2 #&

Think threads with

m YAMAWA

BT JIS: REEY SR 6gM1.6 L),

I3 JIS:2 &

6h(M1.4 I'F)

] U ER T,
CIFOREIDBOREHT JIS H SHIRENTOET.,



